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1. oo Remes [ W& Tedn! AR Sfredr :  1x5=5

Choose the correct answer from the following
alternatives :

(@) SiZ-35f *[AFR [FEOF TDI XA -
The condition for the validity of the
chi-square test is
(i) YA oRTHT TOF I A

the sample observations should be
independent
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(b)

(2)

(i) A AR Aame! (A 273 e
constraints on the cell frequencies
should be linear

(iii) CPIAT ARERE! 5 B3 WEF 2’3 FACA

cell frequency should be greater
than 5

(iv) 89T FAFCE
All of the above

Gbl HRPEFY TH o SffE 29
(TRICH |

The efficiency of an estimator cannot
exceed

i 05

(ii) O

(ii) 1

(iv) €/ 9bI8 7=
None of the above

(c) THRTS B *FJOl JPeR] ore Y
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AN[S] ARl AN PP 25

Generally the estimators obtained by the
method of moments as compared to
maximum likelihood estimators are

() TN IR

less efficient
(ii) wifee RGN

more efficient
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(3)

(iti) TN PRI
equally efficient

(iv) 8°[T 918 =
None of the above

(d) TR Fag Gl 7161 a9
Area of the critical region depends on
(i) = 2P Fo AFRT 81T
size of type-I error
(i) TSN 2P T PRI SUTS
size of type-li error
(iti) Aforfeg T=T €T
value of the statistic
(iv) RN RN S2[©

number of observations

(e) TP SR SO ARFFS TS AP 2

In sequential probability ratio test
(SPRT), the sample size is

() =1
fixed
(i) foa o5 57
fixed but small
(iii) oa o8 ©les
fixed but large
(iv) <€l e bore

a random variable
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2. WO SpTRA RRRY Taa iyl 2x5=10

Answer the following questions in brief :

(@) t3%Na WSYRIPTHZ TEd I |

State the assumptions of t-distribution.

(b) A SF RN WG AL T T

Differentiate between an estimator and
an estimate.

() TF=-cieee SeoamveaiRl Sl Soad

:
1

11
State  Fisher-Neyman  factorization 4
theorem. i
(@) f&= s Rew aees e fa | 1
3

Define null and alternative hypotheses.

(e) e Rosmae e Ty MR el il |

Define average sample number in
sequential analysis.

3. (@) B I ww fwm IR IBW
aFErTER S 91 QYR AR TEWN
=fzerd Trad IR BT FRTOR A FR-I9N
“QIHICH] 6T P41 | 2+2+5=9
Define chi-square distribution. State the
properties of chi-square distribution.
Describe the chi-square test for
independence of attributes, stating
clearly the conditions for its validity.
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(b)

4. R PRI R I R Tes fay

(5)

%41 / Or

FA%T k@ fdl | F-adem acnispry. Soa
| Bl WA I ey WA FhRfeE @
R (I I 240 G511 1051 a1
TEIR T GRE WifKw 22-5 T | SO
o fofes 3.0 wbm W v o
SO MR WweA AR F91 1 [ ez

to.05, 9 =2-2623] 2+2+5=9

Define F-distribution. State the
applications of F-distribution. A
manufacturer of dry cells claimed that
the life of their cells is 240 hours.
A sample of 10 cells had mean life of
22-5 hours with an s.d. of 3-0 hours. On
the basis of available information, test
whether the claim of the manufacturer is
correct. [Given ty.g5 g =2-2623]

Answer any twofrom the following questions :

(@)
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I T G51 0F TS HFerd 2F, (S8 Sl
@ T2 023 951 HfeA® ST |

If Tis an unbiased estimator for 0, then
show that T2 is a biased estimator for 6 2
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(6)

(b) TS ML AHATSR AP &7 oye @
TR 9T (X) T R e (u)I 9 PRI
HFed A |
What is minimum variance unbiased
estimator? Show that sample mean (x) is
always a consistent estimator of
population mean p.

(c) T Ryl W (AFEPTR T 41 |
Explain the properties of maximum
likelihood estimation.

5. (@ SRRRSE oFH WA &9 () OROE
A AT W (i) ACPEIT SBIROCT
R ~RrR e T | e FifeT T
@eTd R T =, IR A1 2+4+3=9
What is a statistical hypothesis? Define
(i) most powerful test and (i) uniformly
most powerful test. Explain how the best
critical region is determined.

&%« /Or

(b) IR AcaRee (TR [T el | et
G RSP “fera  Ffes CFA
AP 29 P[RSRl SRS AR
fosfler SR TAfSCE! SCEv P01 1+4+4=9
Give the statement of Neyman-Pearson
lemma. Show that wuniformly most
powerful (UMP) critical region is
necessarily unbiased. Discuss the

general method of construction of
likelihood ratio test.
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6. (o qroR FRT TEEA LS A e v
qrqell il | T 0 O G A TS o
ooy A A Hp:0=0,7 RS
H, : 0 =0,(>00) o1 FfAata n FE ©eq
%’q Al ? 5+4=9
Give in brief the idea of Wald’s
Sequential Probability Ratio Test (SPRT).
How large must n be for testing
H, :0=0, against H; : 0 =0,(>0p) for a
normal population with mean 6 and unit
variance?

%<1 / Or

(b) AT IHTW AR Hp:0=003 Ro_ice
H, :0 =6, %% I NS TSR A
Wwwmv@@@wm

erdnn

flx 6) = M =0, 1, 2%

@A OC O ASN Fofd T e 31 | 9

Use SPRT to test the hypothesis

Hy,:0=0¢ vs Hy :0=6, for the Poisson

distribution having p.m.f.

-0 A ex
x!

Also find OC and ASN function.

5 ;x=0,12,

flx, 6) =

ok k 1
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